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Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronologlcal age of 10 years then his IQ will be ./

afe el o= Y AARiE oMy 12 99 2 R FTAIHHT 1Y 10 9 2 A IHBT ST
(SfSwwr) ___ grm

1. 80
2.120
3.125
4. 100

Correct Answer :-

- 120

2) Which of the following is an incorrect advantage of problem solving method of teaching?/

fafafad & @ $19-H Rieor ) g9 H) g $37 &1 A &1 710a @1 82

1. All disciplines cannot use this method to solve a problem / Tt ﬁ@'ﬁﬁ‘f GRSl q@'ﬁf BT ITINT U] B!
T H & forw ! B Thd 7

2. Learners participate actively in the process / & Ufehar  Trereft () Gfeha U T HRT A &

3. It makes the learner interested in the learning process / Tg Tt (1=1X) Y 31T9TeT &1 ufchar &
fereraredt feammar & |

4. Evaluation of learning using this method is easy / 39 UgTd &l 3UIIT P ﬁaﬁmww
A & ST 8 |

Correct Answer :-

« Evaluation of learning using this method is easy / 9 UgTd &l SUIIT ﬁaﬁmww
A & ST 8 |

3) Gray matter of the brain that controls IQ and memory have greater volume in learners who

. & iR Tgfa ot Frfia s arer uiiass &1 3 Ay, Rrenfda & srftre




AT H g1 3

1. get sufficient sleep/ TITH ig o<l dTel

2. take healthy diet/ TIEY HTER ol dTel

3. avoid stress/ dITd H I dTel

4. exercise regularly/ fAIfAT §T @ <aR—TH FA arel

Correct Answer :-

o exercise regularly/ fAIfRT TT & ITH FHIA dTel

4) The is one who is more open, accommodating, venturesome, outgoing and pretty

confid%ent. / ___ 9% 8 ot 3if¥e ga, eaaR, STwsiid, 3999 iR S1w! smafayr
qren gl

1. Introvert / 313?3’@’[

2. Intro-extrovert / 3-]?17&'@?[ - aﬁ.zi‘@“r
3. Extrovert / aﬁ%ﬂ'@ﬁ

4. Ambivert / SHIHET

Correct Answer :-

« Extrovert / Elﬁ'oi@'

5) Obsessive-compulsive disorder (OCD) can be successfully treated using: / gﬂ?ﬁ-mm

faeR (3fEh) &1 awaagds sare e &1 SuanT 3 fHar o1 9o 3:

1. Cognitive behavioral theory/ SMTH® agR Rigid

2. Massage therapy/ &l R
3. Antidepressant medication/ TSIfSUAT &dT
4. Systematic family therapy/ HOTTelITd TRAR AT

Correct Answer :-

. Cognitive behavioral theory/ T3THTd® HdeR Rigid

6) Which is the SECOND step in the problem solving method? / ¥H¥IT WATaTS fafer & qur
TIOT FiT FT T 82



1. Formulation of hypothesis / uReerafl &1 =g

2. Testing hypothesis / UR&GEUATHT T TLETOT

3. Recognition and definition of problem / TFEAT T 3TR=A 3R aReTm
4. Conclusion / A&y

Correct Answer :-

« Formulation of hypothesis / TR& T3l T =TT

7) What part of our memory stores events that happened in our lives? / AR Fﬂﬁl’ HT FleT
a1 R gAR S & afed geanst 1 #ER 82

1. Episodic memory /Q'Iﬂ'm Fﬂﬁf
2. Procedural memory / UThITcHA® FHA
3. Semantic memory / Qrecry R{%

4. Declarative memory / PILIREED Fﬂﬁf

Correct Answer :-

« Episodic memory /W F{ﬁf

8) What is the first stage in moral development according to Kohlberg? /

Freaadt F AR Maw @ #§ ggem =wor w74y 2
1. Preconventional morality / E@-WCITITIFT Afddr

2. Periconventional morality / UI-URFURETT ATdehdT

3. Conventional morality / URURETT = fddhdr

4. Postconventional morality / URYT-UIFUIITA Afdedr

Correct Answer :-
+ Preconventional morality / lij-rf-CITcFCITITJ'IT-T Afdedr

9) What is the term Freud used to describe his theory of the structure of the mind? / %3 &

B g &1 39ANT Aq Y W F 39S Ry F1 quis F F e Faw

1. Consciousness / aT

2. Iceberg / 3-1'@?47"[



3. Libido / ferferet
4. Landscape / CE A

Correct Answer :-

o Iceberg / 3TEEN

10) What social motive is characterized by a need to control and influence others? /
Fia-a1 grATfaF WNF, g & AIfa F@ AR 375 vl @ f smaeasar g@m
aftte 872

1. Power / Q1Th

2. Achievement / 3TclTe)]
3. Affiliation / HIYU
4. Purpose / 352

Correct Answer :-

« Power / QIfth

11) Parents who believe in punishing the child show . | ¥ FAT-Rar St I3 #@ g3
F A Reaw wa@ §,_ qufar

1. Uninvolved Parenting / 3THdg (HTd=lcHb & & & ST §3M) TR
2. Permissive Parenting / HW QR

3. Authoritative Parenting / HTfAGIRG TIATRLA

4. Authoritarian Parenting / 3TTAGRATGT RIS

Correct Answer :-

« Authoritarian Parenting / 3TTRRATE UITRLT

12) At what age does the child start to show an understanding of the language? / I<I o 37
# oToT Y WHS @ YT FT AT 87

1. At birth / SFH I 81

2. At three months / did Feldd T

3. At six months / &: ZFI@T-T L°L§



4. At nine months / & EF@?T [SES

Correct Answer :-

o At six months / &: EFI?ﬁT-T L'k §

13) The diagnosis for children having problem in word finding is ./ A #H Usg @istet
&1 gAEAT F1 g giar Bl

1. Dyslexia / Brafagar

2. Dyscalculia / TSEheTergferar
3. Dysnomia / IS UEERI

4. Dystopia / fEEeif=r

Correct Answer :-

« Dysnomia / [B&faaT

14) Which is not the principle of inclusive education? / HlsT-aT FaTALA AT FHI ﬁ?{ﬁlﬁ C ]

g2
1. No discrimination between learners /fA&TTIAT & dra PIg AHma e
2. Separate classroom for special children /fIW gTdi & ToIT 37eT9T HaT

3. Bqual educational opportunities /T AT&Th TR

4. Catering needs of the all children /T gTdl T WU I SFTRIAT BT AT TGeAT

Correct Answer :-

« Separate classroom for special children /fIUW g=al & T 37T PHaT

15) Which of the following is not a factor that will protect a child against stress? /

farafaf@a & @ wl9 91 v& ag Frw JE § S g F gy vE T i @ e
1. Family / gRaR

2. Intelligence / @ﬁs’

3. Authoritarian parenting style / 3TTAGRATET TR Aelt

4. Peer relationships / Tedhd! R



Correct Answer :-

« Authoritarian parenting style / HTTQhRATGT TIARLT Qrelt

16) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 "I &I d<dT g
AT & F UF A FT g9 I T &, 916 98 &8 3 & AT 3T g1l 39 5y
Rgeia #r wd7sm 87

1. Conservation / TI&OT

2. Inductive reasoning / 3TITHATCHD GG
3. Object permanence / d¥] TATRCT

4. Hypothetical reasoning / URehfeUd da%

Correct Answer :-
« Conservation / TI&TOT

17) According to Psychosexual Developmental Theory, fixation to which of the following stages results in
dependency? / A R Ry F IqaR, Awafaf@a sEeamet § § e Buior
(Rrardterer) & foveiar F guw @ar 82

1. Anal / 9[&T (TTel)

2. Oral / A& (3RA)
3. Latency / gYaT (elH)
4. Phallic / T (%ferem)

Correct Answer :-

e Oral / FIf@® (3NTT)

18) Growth always corresponds to the age of the child. This is because of the principle of WACCar:)
FAAT a=d &Y 37 § AA @aT gl TE & fRguia & FROT gar §

1. Continuity / faRaxdr

2. Uniform Pattern / ThTATT UeeT

3. Integration / TehTehOT

4. Individual Differences / Thep Heaadr



Correct Answer :-
e Uniform Pattern / ThdHATA e

19) Which of these is the best way to improve problem solving skills in primary school children? /

wrafAd ey & geal # gaear FEner Slad & JUR F F1 q9@ H=oT alls #4182

1. Solving mathematical problems. / IO FHATATHT T TATUTA HLAT|

2. Find solutions to problems that they face in their daily life. / 3T THATATHT T FATITA GioreT, Seaepr o

U fAs Saa & ATHAT A

3. Talk about their problems to peers in the class and the teacher. / 3cTchT THATITIHT &b IR H HET A TEUTS!
HR AeTH A AT BT

4. Apply steps of design thinking process and engage with community around. / @ $r Gfehar & X &
TN T AL LT 3R AU & FHAGT b 6 e AT

Correct Answer :-

« Apply steps of design thinking process and engage with community around. / @ HI gfehar & TR A
TR Bl o) LT AR UM & FHGR & T eFEA DTl

20) believed that personality develops through a series of stages and the effects of childhood
are long lasting. / FT AT o7 & safddea, @O f 0F @ F ATIX F

fRsRa gt § 3 99 & wama o gHT aF @A S
1. Albert Bandura /Wa@
2. Jean Piaget /Gﬂ:[ﬁtﬂa

3. Sigmund Freud / TS WIS

4. Lev Vygotsky / ford E||$3||(‘Q:|5ﬁ|

Correct Answer :-
« Sigmund Freud / F9THS %S

21) Who described a phenomenon called horizontal decalage? / aifasr gmmq ATHS USAT HT guid
fFaer fFam?

1. Erikson / 3R
2. Piaget / TSl

3. Freud / IS



4. Vygotsky / ArS Il

Correct Answer :-

« Piaget/ TOamSt

22) The term normative development indicates: /| &2mcaA® Rema orsg Hﬁ?l' EaG I H
1. Rate / @Y

2. Extent / HIHT

3. Direction / f&or

4. Distinctive qualities / fafrg o7

Correct Answer :-
« Distinctive qualities / TafRrE IqoT

23) When environmental influences coupled with cognitive factors are responsible for learning, such a

learning is known as:/ SI¥ JATGIUIT UG, TAECHS SRS & AT Aawt afew & Qo
frFer 8 & Y =9 @ & e Y T w7 A ST o

1. Operant conditioning / 3iTa¥€ HrRATAIT

2. Trial and error learning / Ucdel 3R aﬁf 37T
3. Social learning / @TATGI AT

4. Classical conditioning / Fellfdhel harerfedr

Correct Answer :-

« Social learning / ATATISS 3TAITH

24) As a future teacher, you will need to and connect with roomful of diverse students. /
T AT fRr8TR & T 7, 39T Y TaeTdr g1t 3R fAffie ot fr FamF a1y
ST g

1. Deal / YT

2. Connect / 33
3. Understand / &S

4. Collaborate / &I



Correct Answer :-
o Understand / §HST

25) Which of the following is not an example of critical thinking skills? / RFafaf@a & ¥ wia-ar
gt I Flerer FTUF 30T AST 82

1. Improvising /dclel AR BT
2. Classifying /aaiiﬁa Pl
3. Tracking /eT&T]HIT

4. Describing /<ITEATcHD

Correct Answer :-
« Improvising /dcehlel TR &AT

26) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/mﬁﬁm%‘ﬁ?mmW?ﬁﬁ%ﬁiﬂﬁ 3R
HTGATSHT H 3aTd g, A I§ PeT oIl &:

1. social information role taking/ HTHTTSIh AT HHBI AT

2. social and conventional system role taking/m'cﬁ 3R IRuRe gorrelt Hr 9{@@7{ ol
3. self-reflection/ 3T Ufafda (Tew-Roreiarr )

4. mutual role taking/ 3Tadr 3-@?5[ T

Correct Answer :-

o self-reflection/ 3TcH Ufafda (Tew-Roaerr=T )

27) Why do we have culture-fair tests for intelligence?/ Bﬂﬁ' L' IES) §'®TI?IT & ﬁl’({ Wﬁf—
freger wderor ) 82

1. Intelligence tests should free of differences in language and education./ §@QFIT BRI , HIST 3R
el & 3feR I gad g AfeT

2. Cultural understanding is a part of intelligence./ W Y §@ Canyea e % I
3. Intelligence is culture-dependant./ §J,Irc§ Hi%q)l?ldh&ﬂ IR g |
4. Intelligence can evolve/ g@ﬂ?ﬂ &1 o Ry fosan S godr % I

Correct Answer :-



« Intelligence tests should free of differences in language and education./ Ej@ﬂ?ﬂ TRI&TUT, HTST iR
18 & SfeR ¥ o g AT

28) Which of the following determines the impact of failure in school performance? / Frafefea

A A H19-91 faemay ues= # srywedr &1 uHTa fAuffya sxarg?

1. Time allotted is more than what is actually required to finish the task / rafed THT 3T S
3T § Sl aRad H B IR 3 & fold SM1aa & |

2. The pattern and setting of task / BT BT U 3R TR

3. The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬁ S

S B & foru T 4T - 3hyes a1 Ui T8t 8l

4. Level of easiness in the task / BT § GITHAT b XX

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬂ T 9

S B & foTT T a1 - 3h s a1 Ui 8t 8

29) A learner is an intuitive learner if / 'CI'% Udh ﬁT&IT Qﬁﬂg\_ﬂ AT god % o dg 41 EaTIT?

1. They notice the big picture, see how everything connects. / q Jo! Wik aad %, 3R U ) Fl»-|3_ A

PI UfehaT 1 S B
2. They pay attention to concrete facts and details. / q @H@ 3R faaRon IR &9 3 g |

3. They focus on the reality of how things are. KIS w%, 2| dRdfdhdl UR & ad %I

4. They like to describe things in a specific, literal way. / 9§ ool 1 fafRry, reawr: 719 gEA ol
BRI P 5|

Correct Answer :-

« They notice the big picture, see how everything connects. / q ®|<?‘nl dWR oW %, 3R I DS \_rilg_ A

o ufchaT 1 SWd B

30) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / fr® Uflqy MHw & wfawfea fFam & s==r
TS Ul & HROT, AcAbrad AT T TATSART 61 AT d6d 82

1. John Dewey / S g%

2. Lev Vygotsky / o argaicehr
3. Jean Piaget / S TOra



4. Howard Gardner /@d$ MR

Correct Answer :-

o Jean Piaget / S I

Topic:- General Urdu(L1GU)
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Topic:- General Hindi(L2GH)

1) WG RS gl 411 TR § i $8 -3 8 9t 3 faegr w33 ¥ g6l 151 919 981 ¥871 a1 |, a5
gae I3d & Y@ A Rafyam @1 el A 3= @M F g @vge @ Ry Afe ag & s iz sg w1 9e7
TER A T3 Pt e a9 IGT UT1 39 ¢ & 3= giear ot gerf-aadt ot H19 Iur Tan giear Aa-3d iR eired
Tod-Uiod WM & Tk §U TS S § Gl a9 &1 3R geft-3iR TRt ot & ur? gfear wraw
I BT 6" P 313 AT, W R IR TR dUe, R &) gedl R RPE ¢ vwo-wwadas I @1 & oo
foRT®T AT 99 4T, 3T 98 IR  Hier 99+ gelt 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & foe fUod ure om usia § 4 &Y gog @ 33t "iaT @1 91 WA a1 98 "y Afeen g7 & qg &
G SIS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1¢ g3-faai 3 gof o wrdt <Rt ok gof 7 sm
Bt AT A TG A TG T FF TFa A I-gf Slaex g¥eH RREM 93 T8 ¢ TReH RR W) b vt vt <t
MER WX & AN & T I TA-Nb A fAd 1 33 A1 &G T B G BT IR A1 fHerar al 33+ A deH awt 8
ST €1 3t gTad | 1% HUR IB1, I Tadi A S« @Il § TaT ST 3T T A4 ¥§T UT- [P B+, T T -
¥ forg o wgRraa T1fRT ok gt 81 &1 WY Te PR g 21

ST TR B UgH 1 U Y U FHT 3R JaIsd:
- 9¢ B g & gk AT & 31 TR 99+ IR 91T 82

1. gfean

2.4
3. A

4R

Correct Answer :-

2) WA WRAIS a1 1471 TR | ol $8 gHl-y@bt 0 A 39 fagr = o geft 751 a9 =87 <771 ot &1, das&
gae I3d & Y@ A Rafyam @1 el A 3= @M F g @vge @ Ry Afe= ag & s Sz sg w1 9e7
TER A T3 Pt e d9 BT UT1 39 ¢ & 3= giear ot gerfi-aadt ot #19 Iur Tan giear Aa-3d iR sire
Tod-UIod WM & Tk §U TS Sian § Gles a9k &1 3R geft-3iv TRt ot @ ur? gfear wraw
I BT I P 313 AT, W AR R TR dUe, R &) gedl ) RPE ¢ vwa-wwaas I @1 & oo
foRT®T AT 99 4T, 3T 98 IR  HieT 99+ Tell 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & foe fUod ure om usia § g &Y gog @ g3t "iar &1 91 WA a1 98 "y i ¢ & qg &
G 3STS AN 9% UaTT 9 I 1 Tt N1 32 Uss-uss e a1¢ g3-faai 3 got o wrdt <t ok gof 7 sm
Bt AT A T A TG T F5 THa A I-gf Slaex g¥eH RREM 93 T8 ¢ TReH RR W) b vt vt <t
MER WX & AN & T I TA-Nb A fAd 81 33 A1 5 T B G BT IR A1 Herar al 33+ A deH a8



T &1 S gTerd # A1 S UR I31Y, I8 Ialdl A Iy JrdT & T ST IgT UT1 HI" 8T UT- WP B, T/ 7
¥ fore oft ggferaa =R ok gl 81 &1 +ft U afieR gar 81

ST TR B UgH 1 D Y UY $HT 3R JaIsd:
- U e § fpw Wet &1 arftfe Yaied faar war g2
1. far & g &

2. A1 1 G A

3.9¢ & Fcg &

4. 98 B 7 B

Correct Answer :-

3) WA WP a1 T R 8 o $o -4 0 O 39 fagr s o g6t 151 919 718 3571 a1 71, a5
9 334 & 4@ & Rafaas w1 3 A 3% T F e wree @ T Ay ag St/ ddiz sg wrae
FER A T3 P a8 a9 IGT YUT1 39 9¢ F =71 giear ot gerfi-gadt ot #19 Iur Tan giear a-3a iR e
TEd-UIod WM P Tk §U TR S § Gica R @1 3R geft-3iR TRt oft & ur? gfear wraw
I BT I8 Fd TS <, g AR IR a1e? a1, AR 3t ge-il R 1T g¢ vwa-wwaae 0 @t & o
@1 deT aa 991, 31T 9% ST9R § HiaTl 994 Tet &, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9re e tsig # 4 &Y gog @ 3Tt Hia1 @ 91 JEA a1 98 Y e ¢ & qg &
IS 3STS AN 9 UaTT 9 3o 7 Tt N1 32 Use-use e arg 13- I gof on st <Rt ok gof 7 sm
Pl a1 W 1@ | 3L 7 vP Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! arelt <t
EX WR & @I & T 39 [A-2M A &fad g1 IS A1 9G 0 D1 Y BT IRAT 11 Freran af 391t A S a1 8
W1 €1 S Tad § A1 HUR ISTY, I8 TAd! A 1D @Il & Tl ol IgT UT| T IGT Y- b B, T 74
¥ forg o gferaa 1R ok g:&f 811 @1 W te SifteR glar 31

IUed TR D1 USHR A Y T ¥Y BT IR T4133:
U= ‘gfSa’ &1 faeiy 2res 82

1. gad

2. STITHA

3.915

4. fAfAa

Correct Answer :-

4) YA WRaId Ia 411 W 8 ot $ -3 4 9 39 fagr w= o g6t 151 919 718 77 91 |1, a5
gae I3a & Y@ & Rafram @1 el A 3= @M ¥ g @vgs @ Ry afe ag & s Sz sg d19¢7
FER A 79 P a8 a9 IGT UT1 39 9¢ F 3= giear ot gerfi-gadt ot #19 Iur Tan giear a-3a iR eired
TEd-UIod WM P Tk §U TR S § Giecd R &1 iR geft-3iR TRt oft & ur? gfear wraw
T BT AT Fd ATS f, g AR IR a1e? a1, AR 3t ge-il R RH1T g¢ vwra-wwaae 0 @t & o



fSreT de1 9@ a1, o< 98 STWR § Higl 994 el 3, 319 ¥ URR-feen 39 gA-faaifiei & g:@ &1 sigren
WA & foe fod 9Te 3= TSI § 7 &Y gog @ 3Tt Hia1 @ 91 JA a1 98 Y A g7 & qg &
e 3ASTS A aF TaT A 36 9 It A1 37 uxg-uss e arg - 3 gof o wirdt < ik gt = om
P a7 A 1@ | 3R 7 +F Tbd Y| G)-31 STae? g3eH RIREH 98 T8 A1 g3eH RR W) 9 35! relt <t
EX WR & AN & T 39 [A-2N A &fad 81 IS A1 G 0 D1 Y BT IRAT 181 Frerar af 391t A Heu a1 8
ST 81 S BTad § A1 HUR ISTY, I8 TAd! A b @IaT | T o IgT UT| T IGT Y- /b B, T 71
¥ fore oft wgferaa a1fRe ok gl 31 &1 oft top siftreR glar 21

ITYe TN B USH R IS T ¥Y BT IR T4133:
- TR Teg T & @2

L. gfeatar

2. Efferar

3.59H ¥ P

4. 39T

Correct Answer :-

5) WA WRalP I T R 8 o $o -7 0 O 39 faer w3 o g6t 151 919 718 77 91 71, a5
YaE 334 & Y@ @ Rafaam a1 gl A 3= @A & Riw wvge 2 Ry af 98 &) w1 3dt? a8 d19¢7
FER A Td Bt 9 99 IFT 4TI 39 9 & 3 gfean ot gorsdt-aasht ot w9 IuR Ian1 gfear Ad-4 ik o
TIEd-UIod HEM & 9k §U ERg Siorm # Hed 9R & SR gefl-3iR IRt ot i ur? giear wrew
ITA FT I1ET X 3T A1, Tig R IR IR que, RR &1 gedi W P §U vora-whaa: A 3 & oa
@1 deT a9 991, 31T 98 ST9R § Higl 994 Teit §, 19 ¥ URR-fea 39 - & g-@ &1 sigren
WA F 1T Nod 9ra vA TS § 7 &t gog | g-& Ara1 Bt 919 Wi @ 98 SYid A 7 B gy &
g SIS A aF TaT A 36 9 gt | 37 uxg-uss e ag - 3 gof o wirdt < ik gt = om
BT IEARIT H 3Gl A Y T ¥ TP Y| Q-Gl STae g3eH RIREM 96 I6d U1 g¥eH R IR It 36wt )
MER W & AN & T I TA-XNp A fAd 81 IS A1 5 9 B G BT IRaT ) fArerar ol I3+ A FeH awr &
ST €1 S gTad § A1 HUR ISTY, I8 TAd! A b @Il & T o IgT UT| T IGT UT- /b B3, T 71
¥ forg ot wglera a1k 8k g:& 81 @1 W tw SifteR gar 31

ST TR B Ugh 1 D Y U HT 36X JaIsd:
TH- Y@ A fyafyar o1 ord @ 82

1. 3caATAh @ Bl

2. @ & A

3. 9@

4. & ST

Correct Answer :-



6) WA WRaIP I 1411 TR 8 ol $© -3 0 IO I faer s o get 751 919 71 771 9 1, a5
gae 334 & 4@ & Rafyam @1 g A 3% @M ¥ R wvas & Ru dfea sg Y s iz sg d19¢7
FER A Td I 9 99 I§T AT 39 9 & 3 gfean ot gordt-gasht ot w9 IuR Ian1 gfear A4 ok ol
TEA-UIod W & Tk §U TR Sear # Gled R @1 3R Feft-3iv TRt oft @ ur? gfear wraw
T PT I8 Fd 303 A1, Tig R TR 91eR que, RR a1 gedl R P §U 6w a-whaas A 3 & oa
@1 deT aa 991, 31T 98 ST9R § Higl 394 Teit §, 19 ¥ TRR-fea 39 - & g-@ &1 sigren
WA F 1T Nod 91a A TS § 7 3t gog | g-& Ara1 Bt 91d Wi @ 98 SYid A T B gy &
g SIS AT aF TaT A 36 7 gt N1 37 uxg-uss e ag - 3 gof o vt < ik gt = om
BT AT H 3Gl A 34 T ¥ TP Y| Q-Gl STaex g¥6H RIREM 96 I6d U1 g¥eH R IR Wb 3@ ot At
MER WX & AN & T I TA-XNp A 5fAd 81 33 A1 5T 9 Y G BT IRaT 8] fArerar o) I3+ A FeH awr &
ST €1 S gTad § A1 HUR ISTY, I8 TAd! A Sl @Il & T o 38T UT| T IGT Y- /b B3, T 741
¥ forg ot wglera o1k ik g:&f 81 @1 W te SifteR gar 31

ST TR HI Ugh 1 U 7Y Uy HT 36X Ta1sd:
- 'qd Bt g auAr FT AT wTE ?

1. 37cTTAH I Fer

2. 99 X UE g

3. 99 St R

4.d & GG Prel Bl

Correct Answer :-

o ARSI BT

7) WA WRAlP Ia1 171 IR | o $8 -yt B IO 39 fagr = & 9t 7151 a9 =81 771 ot 1, 5%
gae 334 & 4@ & Rafram @1 e A 3% @M ¥ R wvee @ Ru dfra sg S s 3z sg d19¢7
FER A dd I g 99 T§T AT 39 9 & 3 gfear ot gordt-aasht ot $i9 IuR Ian1 gfear -4 ok ol
Tiod-Uiod WM & Tk §U TRYS S ¥ ales aR &1 3R geft-oiv arT ot & u1? gfear wras
T BT A8 FX ATS A, g R IR a1ey AU, R 3t gel R RHIT g¢ vwra-wwhama- 3 vt N o
ORI AT 9a 1, 3T 98 AR § Hiel 99+ gelt 3, 31 ¥ uRR-fien 39 g-faaifieht & g o1 sigren
WA F 1T Nod 9ra A TS § 7 &t gog | g Ara1 Bt 91d Wi @ 98 SYid A 9T B gy &
IS SIS AN 9% UaTT 9 36 1 Tt N1 37 Uss-use e a1g g3-faai 3 gof on wrdt <0 ok gof 7 sm
DI IARITH TG F 3G 7 ¥F Fd Y| GI-3l ST gYeH RIREH 9 @ U1 5360 RR W a1 3! A1t A
MEX WR & @ & T 39 [F-RN A &fad 81 IS A1 5F 0 D1 Y BT IR 181 Frerar O 9 A sewaw @
wTa 81 3t gTad | 1% SHWR IBTY, I Tad! A SIb< @Il F TaT1 oI 3T AT Wid ¥eT YUT- /P B+, T T =
¥ forg o wgfraa T1fRT ok gt 811 &1 WY Te R g 21

IUad TR F TGP A9 U T Uy HT IR garsd:
- AW P T T 7 & e ff w1 <) wrean 82
1. FIHSTERY

2. dIeH

3. TETR

4. Ggforad

Correct Answer :-



8) WA WRd® Tl ATl TR H oY 8 T-23iT ft |t 3 fagr w3 ¥ 7al 7151 919 181 Y87 9l |, a8
gae I3a & Y@ & Rafyam @1 el A 3= @M F g @vge @ Ry afe ag &Y s Sz sg d19¢7
TER A T3 Pt a8 a9 38T YUT1 39 9¢ & o= giear ot gerfi-gadt ot #19 Iur Tan giear a-3d ok eird
TEd-UIod WM P Tk §U TR S §f GicH a9R &1 3R geft-3iR TRt ot & ur? gfear wraw
T BT ITEE Fd ATS <, g AR IR a1ew e, AR 3t ge-il R 1T gu vwa-wwaas 0 @t & o
ORIt AT Ia 4T, T 98 IR H Hier 994 Telt 3, 31 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fUed 9re om usig § 4 &Y gog @ g3t HiaT @1 91 WA a1 98 Y e ¢ & qg &
1S 3ETS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1g - 3 gof on wirdt <R ok gof 7 sm
P AT | 3ATE T 3T 7T 3P JPd A1 GI-) STaeR g¥¢H RS 98 @ A1 g RR W ath vt vt A
TMER WX & AN & T I TA-XNb A fAd 1 33 A1 5 0 B G BT IR ) fArerar ol 33 A deH aw 8
W1 &1 S gTad § A1 HUR ISTY, 3§ TAd! A SIhs @Il | Tl o IgT UT| T IGT Y- b B, T 7=+
¥ forg o wgRRraa =1fRT ok gt 81 &1 Wt Te PR g 21

ST TR B UgH 1 D Y UY FHT 3T JaIsd:
- U T | U SfUSR $t 91 B 7S 3 98 8-
1. e &1 IFfRABR

2. 9 aa &l AfABR

3. g@l g &l HTUhR

4. qd g &I AHR—BR

Correct Answer :-

9) WAM WRA® Ial T R § o $© -y 8t 91 39 fagr o= | =elt 7151 919 781 351 ot |01, a5F
gae I3a & Y@ & Rafram @1 el A 3= @M ¥ g wvge @ Ry afe ag & s Sz sg d19¢7
FER A T3 P a8 qU IGT UT1 39 9¢ F =71 giear ot gerfi-gadt ot #19 Iur Tan giear Ja-3a iR e
TEd-UIod WM P Tk §U TR S §f Gica aR @1 iR geft-3iR TRt oft & ur? gfear wraw
I BT IT8E Fd ATS f, g AR IR a1eR a1, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
T a®T deT aa 991, 31T 9% ST9R § Hial 994 Tet &, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9re e tsig # g &Y gog @ 3Tt Hia1 @ 91 TEA a1 98 "y e g7 & qg &
TG 3STS AN 9 TaTT 9 3o 7 Tt N1 32 Uss-use e arg g3-faai 3 gof on wrd <Rt ok gof 7 sm
Pl a1 W 1@ | 3T 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! arelt <t
EX WR & AN & T 39 [A-2N A &fad g1 IS A1 9F 01 D1 Y BT IRAT 11 Freran af 3391t A Hew a1 8
ST 81 S gTad § A1 HUR ISTY, I8 TAd! A b @TaT & T ol IgT UT| T IGT Y- /b B, T 794
¥ forg Y gferaa 1R oik g:&f 811 &1 W te SifteR glar 31

IUed TR B USHR AR IS T ¥Y BT IR T4133:
UH- R | S difsa ur?

L.dg

2. $TITaT

3l ~



4. gigan

Correct Answer :-

10) WA WRAIP Ia1 1471 TR | o $3 FHI-y&t A 1@ I fagr w3 o gt 7151 919 93¢ @7 a9 |1, dasb
o I3d & Y@ A Rafram @1 eél A 3% @F F g @vge @ Ry e sg sy s Sz sg d19e7
YER A T4 Pt e dU 3BT UT1 39 9¢ & 3= giear ot gerfi-aadt ot H19 Iur Tan giear Ia-3d iR eire
Tod-UIod WM & Tk §U TRYS S § Gied a9k &1 3R geft-3iv TRt ot & ur? gfear wraw
I BT 6" P 313 AT, W R IR TR dUe, R &) gedl R RPE ¢ vwo-wwadas I @1 & oo
ORIt AT 99 4T, 3T 98 IR  Hier 99+ Fell 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & fo fUod ure om usig § 4 &Y gog @ g3t Hiar @ 91 WA a1 98 Y i ¢ & qg &
G 3ETS AN 9% UaTT 9 3o 7 Tt N1 32 Uss-uss e a1¢ g3-faai 3 got on wrdt <t ok gof 7 sm
Bt AT A T A TG T FF THa A I-gf Slaex g¥eH RREM 93 T8 ¢ TRed RR R b vt vt <t
TMER WX & AN & T I TA-Nb A fAd 81 33 A1 5F T B G BT IRAT 1 fHerar al 33+ A deH awt 8
ST €1 3t gTad | A% HWR IB1, I Tadi A S« @Il § TaT ST IgT T A4 ¥§T UT- [P B+, T T -
¥ forg o wgRRraa T1fRT ok gt 81 &1 WY Te PR g 21

SUT TR F UgHR A2 U Y Uy HT IR gaT3d:
T=H-UKId TR # GF-faai &t dst fea-fom a0t 42
1. 3Uh HHT &l

2. qg-gfear et o

3. gfear AR daid Afeen &

4.1 sferedl A

Correct Answer :-

11) WA WRAIS I 1471 TR & o $ -yt 0 1@ I fagr w3 o gt 7151 919 93¢ @7 9 |1, a8
FaE 35d gl YW@ A foafaa™ @1 gt A 38 @1 & fow wrae ¢ QT afe 9g & & ddi? 9g &1 967
TER A T4 Pt a¥e d9 BT YUT1 39 9¢ & 3= giear ot gerfi-aadt ot H19 IuR Tan giear Ia-3d iR eired
Tod-UIod WM & Tk §U TR S § Gles a9k &1 3R geft-3iv TRt ot 7 ur? gfear wraw
I BT I P 313 AT, W R IR TR dUe, R &) gedl R RPE ¢ vwa-wwaas I @1 & oo
foRTT AT 99 4T, 3T 98 IR  HieT 99+ Tell 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & foe fUod 9re om usie § 4 &Y gog @ g3t Hiar @ 91 WA a1 98 "y i U & qg &
G 3STS AN 9% UaTT 9 I 1 Tt N1 32 Uss-uss e a1¢ g3-faai 3 got o wrdt <Rt ok gof 7 sm
Bt AT H TG A TG T F5 THa A1 I-gf Slaex g¥eH RREM 93 T8 ¢ TRed RR W) b vt vt <t
MER WX & AN & T I TA-XNb A fAd 1 33 A1 5F T B G BT IR4T A1 fHerar af 33+ A deH awt 8
ST €1 3t gTad | 1% HWR IB1Y, I gadi A S« @Il § TaT ST 3T YT W4 ¥§T UT- WP B+, T T =
¥ forg o wgRraa T1fRT ok gt 81 &1 WY Te PR g 21

ST TR B UgH 1 U Y U FHT 3R JaIsd:
Y- AGH SHST | F gadT 82

1. 38 ST ol TEAT el ffel @1 am



2.7Fd ¢e-Ae A
3.7Fd # P AR AL oA
4, TEAT UX SIpY @I @& AT

Correct Answer :-

« 38 ¥ P TEA A T & A

12) WEF WS 9a T R & o $© -4t 0 1t 33 fagr w3 o gt 11 919 =8 w51 @) 71, a5
9 334 & 4@ | fafeas w1 3 A 3% T F e wree @ Ru A g S/ ddz sg wrae
FER A T3 P a8 a9 3BT UT1 39 9¢ F =1 giear ot gerfi-gadt ot #19 Iur Tan giear a-3a iR e
TEd-UIod WM P Tk §U TR S § GieH R &1 3R geft-3iR TRt oft - ur? gfear wraw
I BT I8 Fd ATS A, g AR IR a1eR a0, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
@1 deT aa 991, 311 9% ST9R § Hial 994 Tet &, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9re e tsig # 4 &Y gog @ 3Tt Hia1 & 91 JEq a1 98 Y e g7 & qg &
TG 3STS AN 9% TaTT 9 3o 7 Tt N1 32 Use-use e arg 3-faai 3 gof on s <R ok gof 7 sm
Pl a7 A 1@ | 3L 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! arelt <t
EX WR & AN & T 39 [A-2M A &fad g1 IS A1 G 01 D1 Y BT IRAT 11 Freran af 391t A Hew a1 8
W1 €1 S Tad § A1 HUR ISTY, I8 TAd! A b @IaT & T ol IgT UT| T IGT Y- /b B3, T 74
¥ forg Y gferaa 1R oik g:&f 811 &1 W te SifteR glar 31

IUYT TR B TP 14 T 7T UY HT 30 9d154:
UH- ‘BhH-BhehdR 3 U1 BT 3 82

1. 3Ph-Fh P T

2. Fe-HeaT A TS
3. 0TS 3@ & e
4.0 HTG & G &1 Ahorar

Correct Answer :-

13) WEF WS 9a T W & o $© -4t A 1t 37 fagr w3 o gt 11 919 =8 w51 @) 71, a5
gae I3a & Y@ & Rafram a1 eé) A 3% @F ¥ g wvgs @ Ry afe ag ) s Tz sg d19¢7
FER A 9 Pt a8 a9 IGT UT1 39 9¢ F =1 giear ot gerfi-gadt ot #19 Iur Tan giear Aa-3a ik e
TEd-UIod WM P Tk §U TR S § GieH R &1 3R geft-3iR TRt oft & ur? gfear wraw
I BT I8 Fd ATS f, g AR IR a1eR a0, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
@1 deT aa 991, 31T 9% ST9R § HiaTl 994 et §, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9ra e tsig § g &Y gog @ 33t HiaT & 91 WA a1 98 Y e g7 & qg &
1S 3STS AN 9% TaTT 9 3o 7 Tat N1 32 Uss-use e arg - 3 gof on s <R ok gof 7 sm
Pl a1 W 1@ | 3L 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR W) 9 35! arelt <t
EX WR & AN & T 39 [A-2N A &fad g1 IS A1 9F 01 D1 Y BT IRAT 11 Freran af 3391t A Hew a1 g
W1 81 S Tad § A1 HUR ISTY, I8 TAd! A SIh< @Il & T ol IgT UT| " IGT Y- /b B, T 74
¥ forg Y gferaa 1R ok g:&f 811 &1 W te SifteR glar 31



ST TR B UgH 1 U Y UY FHT 3R JaIsd:
w=H- T 3reg &1 faey @ar 82

1. T
2. 390 | PS5 AL
3. AT

4, G

Correct Answer :-

14) WA WRAIS Ia1 1471 TR & o $8 -yt 0 IO 39 fagr w3 o Feft 751 919 93¢ @71 9 |1, a5 b
gae I3a & Y@ A Rafyam @i eé) A 3% @F F g @vge @ Ry afe ag & s Sz sg d19¢7
FER A T3 Pt a8 a9 3BT YUT1 39 9¢ F o= giear ot gerfi-gadt ot #19 Iur Tan giear a-3d ok eire
TEd-UIod WM & Tk §U TR S § GicH a9 &1 3R geft-3iv TRt ot & ur? gfear wraw
I BT AT Fd ATS A, g AR IR a1ew e, AR 3t ge-il R RH1T gu vwa-wwaas 0 @t B o
fORTT AT 99 94T, 3T 98 IR  Hier 99+ Telt 3, 31 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fUod ure om usig § 4 &Y gog @ g3t HiaT @1 91 WA a1 98 "y i ¢ & qg &
1S 3ETS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1rg g3-faai 3 gof on wirdt <Rt ok gof 7 sm
Pt a1 ¥ @ | 3RY 7 vP Tbd A1 G1-31 Sae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! aret <t
TMER WX & AN & T I TA-XNp A fAd 81 33 A1 5T 0 B G BT IRaT g} fArerar ol 33 A der aw @
W1 &1 S FTad § A1 HUR ISTY, 1§ TAd! A b @Il | T off IgT UT| T IGT Y- b B3, T 74
¥ forg o Wl =1iRT ok gt 81 &1 Wt Te PR g 21

ITY TR D1 USHR A I T ¥Y BT IR T4133:
- HYTd’ ST ygigar! 76t 82

1. #Ag

2. |y

3. g

4 a3

Correct Answer :-

15) WM AP Ia1 1471 TR & o $8 FHl-y@t 0 I 39 fagr w3 o Feft 751 910 93¢ @7 9 |1, a5
gae I3a & Y@ A Rafyam a1 eé) A 3% @H F g @vge @ R afd ag & s Sz sg d19¢7
TER A 9 Pt a8 q9 IGT UT1 39 9¢ F o= giear ot gerfi-gadt ot #19 Iur Tan giear Ta-3d ok eird
TEd-UIod WM & Tk §U TR S § GicH aR &1 3R geft-3iR TRt oft & ur? gfear wraw
I BT ATEE FXd ATS f, g AR IR a1ex e, AR 3t ge-il R 1T g¢ vwa-wwaae 0 @t & o
fORTT AT 99 9T, 3T 98 IR H Hier 99+ Telt 3, 31 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fIed 9re om usig § 4 &Y gog @ g3t Hia1 &1 91 WA a1 98 Y e g7 & qg &
1S 3ETS AN 9% UaTT 9 3o 7 Tt N1 32 Uss-uss e arg g3-faai 3 gof on st <R ok gof 7 sm



BT IEARIT H 3Gl A Y T P TP Y| Q-G1 STaex g¥6H RIREM 96 I6d U1 g¥eH R IR Wb 36 oIt At
TMER WX & AN & T4 I TA-XNp A fAd 81 33 A1 5T 9 Y G BT IR ) fArerar o) I3+ A FeH awr &
STd &1 S gTad # A1 SWR ISTY, S TAd] A SI1PL [Tl & Il S ¥&T UT| JF QT UT- Wb H4, T/ {911
¥ forg ff wglera o1Re ik g:&f 81 &1 W tw SifteR glar 31

ST TR HI Ugh 1 U 7Y Uy HT 36X Ta1sd:
- g BT IR | a1 @ -

1. ardd U

2. ORI TEAT

3. f’g@rs$ ¢ arem IdT

4. @1 I [ET

Correct Answer :-

o Oidd U

16) IR Ut e, f99 Uit w9 A1

Ut T |9 SHaE, Wi, a9,

W 4T U BT, 7 AR Tep |

g U i AT o}, R 7T Tt S|

ST TR B UgHR -1 IS T UY HT 36 qa13d:
WRH- ‘U T gaiaardt g -

1. U~

2. 4@

3. fafe

4. R

Correct Answer :-

17) Mewsr gl uf@, foe ot @9 @

Ul I 7 FAY, A, A, I

AT 4w 9 F1, AT AR TEFE

T ¥ T a1 ¥, X At 9l S|

39T UGHIT Y YGHT AT T AT YT FT I TS



Teed- ‘geHT F aedd -
1. 3O G

2. FeT%

3. 3TATST & |1 TThHIDhT

4. dIcl

Correct Answer :-

o 3TATST & TTA TEhIh

18) Iewe urht A, e ar=ht w9 H=A|

Ul T F FaX, A, A, T

IRAT 4T IH FT, AT AR TEHA|

g ¥ T a1 X, R s ol Il

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I8
ves- A Q8 FT FT 8?2

L3HH & B e

2.9 & FAeal

3. 306 Hr Agm

4. YTIY T AT

Correct Answer :-

o U T FEAT

19) e = vfEd, R ol a9 @

Ul T F FaX, A, A, T

AT UM IH &1, AT dRY THI|

g ¥ T a1 ¥, ] s ol Il

39T TSI F YGHT AT T AT YT FT I TS
ved- IRAT 4 97 FT ¥ FfA F a9 §?
1. 9 3R 9H

2.3 q PI$

3.0 Teh g1 T e ®



4. 4TI BT UH

Correct Answer :-

o UH Th U1l H RE §

20) AT ol iR, R o @9 =
Ul T T FaX, A, A, T
Wewar urem 97 &1, AG AR TEHEI

T 9 5T A R, N e T T
39T UCHNRT Y YGHT A T AT YT FT I TS
weA- ‘qEAr g fAeT A & F4T §-
1. gfeT

2. Eferar

3.39H § Pl I

4. AGHEBTII

Correct Answer :-

21) ewe gl of@, e 9l @9 @

Ul T T FaX, A, A, T

AT 4T IH FT, AT dRY TEH|

T 9 5T A R, SN e T T

3YYFA ISIIT Y TgHT A & AT YT FT 3R IABA:
we- 9 &1 e gem ?

1. Ty

2. 3

3. 519

4. 901

Correct Answer :-



22) Rww wEh TR, R T T g

Ul I 7 FAR, A, A, I

AT 4mm 97 F1, AG AR TEHH|

g ¥ T a1 ¥, N At ol Il

39T UGHIT Y YGHT AT T AT YT FT I TS
WReA- 9s’ &1 FAETAT e ¥ ?

1. 7%

2. Ty

3. 9%

4. a1fa

Correct Answer :-

23) Wewar al af@R, e gl @w g

Ul T T FaX, A, A, I

WHeT g 9 F1, AT AR TEFE|

g R ar X, SR e W S|

39T UCIRT Y YGHT A T AT YT FT I TS
g ARY ¥ A ¥?

1. A

2. BIRT

3. SR

4. 16749

Correct Answer :-

24) ewe gl of@d, fer 9l @9 @
Ul T T FaX, A, A, T
a4 9 F1, AT AR TEFE|

g 9 5T A R, N e T T



39T TCHRT Y YGHT A T AT YT FT IO qaqBA:
Uee- "YU T 9ATgardr § -

1. @ret

2.3RT AT 3R

3. hUTH

4. g3

Correct Answer :-

« SRT AT BN

25) MeHa gl Uf@R, e gl @9 g

Ul T T FaX, A, A, T

AT YT IH &1, AT AR THI|

g ¥ T a1 ¥, | s ol I

39T TSI F YGHT AT T AT YT FT I TS
yedA- Ay oeg e A F FAE -

1. gfeet

2. Eiferar

3.5 ¥ PIS AL

4. AqHD Tolar

Correct Answer :-

26) ewe gl f@d, e 9l @9 =

Ul T F FaX, A, AGY, T

AT U IH &1, AT AR GSHI|

g ¥ T a1 ¥, X s ol Il

39T UEIIT F YGHT AT T AT YT FT I TS
ved- YUA gy A FIA-AT HeFR §2

1. 89

2. JHAD



3. 31gUTH
4. 3cOeT

Correct Answer :-

27) Mewa gl i@, e gl @9 g1

Ul I A FaX, A, AGY, AN

AT 4T IH FT, AT dRY TEH|

T 9 5T A SR, N e T T

39T TEhRT F YGHT A T AT YT FT IO qaqBA:

Y- TEI TSI F qUH UiFT # i @ Awd @ & Fw qor i a1 @ 8
1. TYHR

2. fagaran

3. Y&l
4. SATACY

Correct Answer :-

28) wer welt UfR, Re = w7 H@

Ul T F FaX, A, A, T

AT 4T IH FT, AT AR TEHA|

g ¥ T a1 X, R s ol I

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I8

Y- GH HT YT IR CEHT Ye: gar ot § ar 2

1. 9NN AT & ST B
2. 38# M5 Us S ¥

3.3q4 fHomE 31 S §l
4. 39 Yamedr 3T ST §l

Correct Answer :-

o 3TH IS US AT &I



29) Wewe gl @A, e ol w9 =

Ul T T FaX, A, A, T

T Gmem 97 &, AT AR TEHH|

g B ar X, SR e W S|

39T TCIRT Y TGHT Al T AT YT FT I TS
weeT- "ARY FT YSH T ¢ ?

1. dry

2. dry

3.dR

4. sy

Correct Answer :-

30) Mewe gt UfEd, fOe gl @ =

Ul T T FaX, A, A, I

WA amn 97 F1, A AR TEFA|

g R ar X, SR e W S|

39T UCIRT Y YGHT A T AT YT FT I TS
we- ‘g ¥ B a1 X, R e 9 I H R §?
1. &9

2. JHAD

3. 3UAT

4. 3T

Correct Answer :-

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / HPH & BT S A?



1. Asvaghosha, Kamban, Nagarjuna / 37T, hald, c-lldllcio-l

2. Asvaghosha, Nagarjuna, Vasumitra / 3748, T—I'ITJTIGiT-r, aﬂ@?
3. Asvaghosha, Kalidasa, Nagarjuna / 3T, EFI'%IW, Fl'FJ'I'IGjT-f

4. Kamban, Banabhatta, Asvaghosha / Civelrrl, dledHCC, 3TN

Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / 3TATENT, FI'ITI'ITri?-f, allﬂmﬂ

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? / HRd ¥ fre

TSR 3 Y sRaN gRT W F wu A wahha fFar a2
1. Nepal /ﬁ'ﬁﬂﬁ

2. Pakistan /HTWF[

3. Myanmar / FITHAR

4. Sri Lanka / SIREa]

Correct Answer :-

« SriLanka / gdid®1

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as: /agq@m,ﬁﬁ%maﬁm%aﬂﬁmaﬁmmﬁ
R 1 ¥ R swwTe foar Siran B, = Searan @

1. Summative evaluation / A3McHD HedTdhd

2. Diagnostic evaluation / SiGITd HeATdhd
3. Placement evaluation / fAITSI HedTeha
4. Formative evaluation / f@AToTTca® EELF&W

Correct Answer :-
« Formative evaluation / fHTOTcHed Hedihe

4) What do you mean by BOD (Biochemical Oxygen Demand)? / d.3i1.3}
(TR Twd TR feuis) I st FT Sifium g2

1. Oxygen demand by aquatic plants / STellT UMl gRT JHTerdISTeT bl AT




2. Oxygen demand by aquatic animals / STellI UQj}ﬁ SR JTerd ISt Y AT
3. Industrial demand for oxygen / TSI o forw o T
4. Water pollution by organic waste / Sifdeh 3TUTIE §RT STl geuur

Correct Answer :-

« Water pollution by organic waste / STTdeh 3TUTAE gRT STel JeuuT

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the
simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / = ufvvifa forar 5, amfere fagm, St ofiR s & a9
Froml & U A 3 o IRINS ik Rmifve Sawe &) urwfYe frar &1 wWiepd od
§ iR I Tae §41d §1°

1. James High / 3?43? ?»'Ié;

2. Macaulay / Heprol

3. John Major / Sifel HAeRR

4. Bining & Bining / fafater us fafdar
Correct Answer :-

« James High / a'cFR:T TS

6) The research that is based on observed and measured phenomena and derives knowledge from
actual experience rather than theory or belief is known as: /

MY S sraentpd 3R g ge1ei wR 3nytid gidar 8 ik Rigid a1 yRun & awirg
P SqUI ERITF U HRdTe, _ degal gl

1. Empirical research / 3‘|’|ﬂ‘1-lﬁ$ 3=y

2. Survey research / TJETOT 3=dWoT

3. Deductive research / GTdIf3Teh 37=dWOT

4. Quasi-experimental research / IY-UAIMcHS edvoT

Correct Answer :-

« Empirical research / Nlﬂlm 3y



According to Seligman, ‘Ethics and Education’ are included in: / AferAT & IR Afdwar sk
fRrem 9o Ifve g &

1. Semi social science / 31T ATATTG® fa=ma

2. Social studies / ATATSI JETIA

3. Pure social science / g ATATTSN G fa=irer

4. Science with social implication / GTHTToTeh fafeare arer faa

Correct Answer :-

« Semi social science / 319 TTHATTSIH =14

8) Which one is not a Nataka (Play)? / @ & $i9 va aAcs () A8 82
1. Pratigya Yaugandharayanam by Bhasa / HI¥ gIRT Il tﬁTI'-?RFqu

2. Saptasati by Hala / &l gRT @add

3. Uttara Ramacharita by Bhavabhuti / #@fd gRT 3oR @Rk

4. Mricchakatika by Sudraka / ge §RT HTohiehl

Correct Answer :-

« Saptasati by Hala / &l gRT GG

9) SEBI stands for /A (SEBD) FTRATTITT___ Tl

1. Securities Exchange Board of India / RIS Taradst 1S 3T sf3ar

2. Securities and Safeties Exchange Board of India / FRAaraREST U AFIS Teradol ¢S 36 sf3ar
3. Securities and Stocks Exchange Board of India / TeaIRErST T8 Tih TSt dIS 3T &f3ar

4. Stock Exchange Board of India / i TFHdST A% 3HTh sfear

Correct Answer :-

« Securities Exchange Board of India / I RErsT varadat 1S 3T% gf3ar

10) What is the standard sea level pressure in millibars? / #ATeleh '\‘Fﬂﬁ' TR &1 19 fAfaeR &

FATEATE?
1. 1000 millibars /1000 TATER



2. 1100 millibars /1100 TATeER
3. 1013.25 millibars /1013.25 fAfOER

4. 1025.00 millibars /1025.00 fAToER

Correct Answer :-

« 1013.25 millibars /1013.25 fAToER

11) When was the National Human Rights Commission constituted? / ISEIT ATATITASR AT
T TS Fd TR ITAT UT?

1. 1992
2. 1995
3. 1996
4. 1993

Correct Answer :-

« 1993

12) Why should social science be a part of a core curriculum? / HTHISIS fAATT F T qET

UTSIHA FI REAT F1 glT Afge?

1. Helps to develop critical thinking / 3T&<T O &I [dhTAT H H FAGE Pl &l

2. It deals with human behavior / Tg AT cTdeR & JATAT &1
3. To develop awareness of the world / T4 & STITESAT I fFawh AT A & forw|
4. To develop the country / 2T &I TARTHT &= & forw|

Correct Answer :-

« Helps to develop critical thinking / 3Tl 1T ol [ARRAT HIA H FAGE AT &

13) ‘General Ticket System’ is another name for . | ‘STl feFhe gommelr T QT
T B

1. Multi-Member Constituency / Ig-Ha&T IGEIEGEAE]

2. Triple-Member Constituency / ¥-Teed [AaTae aeeg



3. Double-Member Constituency / T§-Teed ata< &
4. Single-Member Constituency / Thel-HGET IEEIECEAE]

Correct Answer :-

+ Multi-Member Constituency / 9g-HaFd IGEIEGEAE]

14) Discussion method is also known as: / IR==T W}Tﬁ' F T J1H H oY eI ST B
1. Project method / TRAYSTAT Ugfal

2. Holistic method / QUTATATEY UG T

3. Socratic method / W?ﬁ gl

4. Activity method / fohaTemerra ugfa

Correct Answer :-

« Socratic method / HiEBIIFiI CIE'%

15) Observation of one’s own behavior by looking within is . Tl =afda & qarr
T F AT SATHFT TTT & STAGR HT e ldhel Fgodr gl

1. survey / Td&ToT

2. experimentation / ST
3. introspection / ed{Tdelldhed
4. rating / FHeATchel

Correct Answer :-

« introspection / 3ecdTdellche

16) Who among the following is associated with the perspective of “Education as Social
Transformation”? / AT f@d & @ i “arenfore aRada & T & e sw efewpor d
i &

1. Mahatma Gandhi / FETcHT IMeY
2. Dr. Radhakrishnan / ST. RCICVE]
3. Jacques Rousseau / SIdpUY 41



4. Paulo Freire / Or3ell th_f'?'l'

Correct Answer :-

« Paulo Freire / Ur3ell $ha¥

17) Who among the following issued the founding charter of the English East India Company? /

fArafaf@a & @ fFas sfPerer ST sf3ar Fu=) &1 FEamas w1y FrY fFar
1. Elizabeth I / Tforsmarr I

2. James 11 / 519 11

3. James [/ S1&T |

4. Charles I/ aTed [

Correct Answer :-

« Elizabeth I/ TSI I

18) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /
ST AT 1 T & G ool 1 godie Sl ar?

1. Balban / deldel
2. Qurtub ud din Aibak / FJd-36-E1T VaIch
3. Razia Sultan / I/S14T Jedld

4. Mohammad bin Tughlaq / FeFag foaT diTeldh

Correct Answer :-

« Mohammad bin Tughlaq / FeFaG & JiTeldh

19) Who was the first President of the Indian National Congress? / R ISERT FAW &F TAH
3reeT HieT A2

1. Womesh Chandra Bonnerjee / SALI Teg, At
2. Badruddin Tyabji / I35 il
3. Bipin Chandra Pal / [af0= ¢ arer

4, Lala Lajpat Rai / SITelT olToTdd T



Correct Answer :-

« Womesh Chandra Bonnerjee / SHIALI deg; AT

20) Who remarked that ‘our secondary education remains the weakest link in our educational

machinery and needs urgent reform.’? / fFaar feoqoft &t for gAY ATeafA® e, gaArd dMarw
FfIeTd Ay Fad FAGR F31 ¢ AR FHH dehTer FUR FY HTRIFAT1'?

1. Dr. Rajendra Prasad / 3f.3eleg OIS
2. Dr. S. Radhakrishnan / 3f. TH. JUTHOT

3. Dr. Ambedkar / 3T, THISHT

4. Maulana Abul Kalam Azad / FYITT 31geT Helld 3TSTG

Correct Answer :-

« Dr. S. Radhakrishnan / 3. TH. JTUTHE0T

21) Inquiry-based Learning is based on which philosophy of education? / 3=a¥oT-3TeTR
rferera, fvam & forer gefer W 3menRa 82

1. Realism / QIQJTQi?II'q’
2. Idealism / 3TTETdTC
3. Existentialism / 31T &dcadrg,

4. Naturalism / Cﬁﬁﬁa’l?{

Correct Answer :-

« Naturalism / Yepfddrg

22) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L ARTG A
1971 & & |19 20 ety <enifa 3R fA=rar @ftr o gFanar

1. Sri Lanka / 3 olepT
2. Bangladesh / ST elTGer
3. Soviet Union / @faad @9

4. US/ AN

Correct Answer :-



« Soviet Union / @ifaaa g

23) is a body of the United Nations composed of all member states. / HIFd TS
Y v 3H1E ¢ S Toft e st @ fAfAa €1

1. Security Council / gI&IT SIELT

2. Economic and Social Council / 31T T drefioie aRug
3. Trusteeship Council / =TT TREG

4, General Assembly / HASTHHAT

Correct Answer :-

» General Assembly / HSTHHT

24) The benefits of Green Revolution in India were limited only to ./ 9IRd # gRd Fifa
& T hadl a& @ifaa 9

1. Wheat and rice / ﬂ's}f&ﬁ? dldel
2. Barley and jowar / Sit 3R SR
3. Barley and cereals / it 31X 31T
4. Rice and barley / dTdel 3k s

Correct Answer :-

« Rice and barley / aTadl 3 St

25) The head of a guild in ancient and early medieval India was called ./ 9rehtet 3
YRAF ACIIINT IR H TF 96 F 7T H &g SITaT 4Tl

1. Adhikari / 37T
2. Adhipati / 377ufa
3. Gahapati / ITgafd
4. Jethaka / Side

Correct Answer :-

« Jethaka / SIde



26) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: /?ﬁﬂﬁﬁ*gﬁﬂﬁ@ﬁﬁﬁﬁ?ﬁﬂﬁ
ATAFRT ITod F1 Y v A & T A Sfanal w1 reqaa 98 Fgarang:

1. Ecology / Spleiiait

2. Geography / TSI

3. Paleontology / Uferaerarer
4. Geology / IERIGIS]

Correct Answer :-

« Paleontology / SferaiaeTarair

27) The thickness of the Troposphere is maximum at the Equator during which of the following
seasons? / STHET T/T W &NHAVS (QNEHRR) T AerS e 7 @ frw wlaw & v arfw
gt a?

1. Winter / 2fTcIhTelle

2. Spring / T8

3. Summer / WCHRTClTA
4. Autumn / € R

Correct Answer :-

« Summer / FTHBTIA

28) The value of final goods and services produced in an economy in a year is known as .
/v s & forelt srdegaeyr & sewfea sifaw avqait sk damit & gea Ht & T F STl
ST 8

1. Per Capital Income / Ufd GaiY 31

2. Gross Domestic Product / vl tlj\oj\bcqlq
3. Gross National Income / Hehel LI 3T

4. Gross National Product / Hehel T UG

Correct Answer :-

e Gross Domestic Product / Hhel tli(ibcl-llq



29) Objective-based teaching is suggested by: / 3GaFT-HTLTR FALTOT ITah q@RT AT 3T e
1. C. Norman /ﬁf. :IEIJ'J:T_"T

2. D.W. Allen / E1. 3y, Teld

3. Benjamin S. Bloom / SSITfe TF. colH

4. David Crowder / 31d3 s

Correct Answer :-

« Benjamin S. Bloom / SoTTfaieT TH. coldA

30) Which one of the following is a disadvantage of Inquiry-based Learning? / fA=afaf@a & @
FIeT FFATOT-3TeTRE 3T F1 v AT 37

1. Promotes a deeper understanding of content / AT BT dleilé T st & forw ORT T &1

2. Involves a lot of preparation and planning time / I% dgd AR AR 3R JISTT GHY QMH Bl
gl

3. Builds initiative and self-direction / Ugel 3R 3TcA-TEAT T IMUR I@aT %I
4, Warms up the brain for learning / 31913 & ToIT ATETSH Pl ScaTTed BT &l

Correct Answer :-

« Involves a lot of preparation and planning time / & g AR AR 3R IS GHYT MfH T Bl
gl

31) Which Finance Minister of India initiated the New Economic Policy (NEP)? / R & f&q
T #ioht & 7€ anf¥ie ey (warseh) i yeama i

1. Morarji Desai / #ARRSI ¢ATS

2. Manmohan Singh / AAATSA @'{-’I

3. CD Deshmukh / ST &ere@

4. TT Krishnamachari / E1ET oot

Correct Answer :-

« Manmohan Singh / FTAIES [&e



32) Which plan discussed in detail the food security in India? / ¥Ra ¥ WIgT qatm AL
Frotet W AEAR & 741 87

1. Fifth plan / Grrdl Sretlt
2. Eighth plan / 3TadT Qrste
3. Sixth plan / BT AT

4. Ninth plan / SidT JrsteT

Correct Answer :-

« Ninth plan / AT Jrstar

33) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / 8TRd & gfaener &1 i At 317:!,723? Th
A& # Afds sfaert # yafda F= F e wafoa =T & 5= #1 3fRFER gar?

1. 37
2.39
3.35

4,32

Correct Answer :-

34) Which Article of the Indian Constitution provides for an independent Election

Commission? / SR WAL T FleT AT HTedT T TaAAT oATa HTANT YeTel AT 82
1.323
2.327
3.324

4,325

Correct Answer :-

. 324



Which of the following is not applicable to Micro Teaching? / faFafaf@a A&l qa&H

fRraror (AT o) W AT AL B2
1. Immediate feedback is not gained. / dcehlel qﬁg@ UTd el @ldT &

2. Duration of instruction is limited from five to ten minutes. / f¢2r T 3@, U & 7 FeIe do
AT a2l

3. The size of the learning group is small. / 3771 HIHE Pl TP BIeT BIdT &

4. Teaching is carried out under controlled conditions. / f1&T0T, faa uRTEufat & frar STar g

Correct Answer :-

« Immediate feedback is not gained. / dcehlel Qﬁg‘f@ urg Flﬁ %T?-ﬁ %I

36) Which of the following dynasties had the longest rule? / A= f@d & ¥ fFa Tsrau =1
ATHAFT TN T UT?

1. The Pratiharas / Qié%l{
2. The Palas / QTel
3. The Senas / J<T

4. The Rashtrakutas / 7TERC

Correct Answer :-
o The Rashtrakutas / JTEHC

37) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

farafaf@a & & #lo a1 e gaee e fRae & spran
1. Lord Ripon/ dre o=

2. Lord Lytton/ s fered

3. Lord Curzon /@8 @oi

4. Lord Hardinge / ?lT_SCET%Tf

Correct Answer :-

+ Lord Ripon/aﬁﬁ'q:f



Which among the following is a major obstacle to economic development in India? / RFafaf@a
A & 71 AR A 3w fawrw & fow v worw e 32

1. Low productivity / f@3T ScUrgadhd
2. Low level unemployment / @31 TR &Y sRISOR

3. High literacy rate / 3T HI&AT X

4. Increased GDP rate / Hhel uio@culq A Z[‘I?g"

Correct Answer :-

« Low productivity / fe<T Scurgedn

39) Which among the following is a commercial bank? / fAFafaf@a & @ w1 v aiOSuF &=
&

1. State Bank of India / HRIIT ¥ S

2. Regional Rural Bank / &1 IImefior &
3. Reserve Bank of India / ¥R Rerd d&
4. Cooperative Bank / H&®RT db

Correct Answer :-

« State Bank of India / RO ¥ dh

40) Which among the following Mughal emperors prohibited the use of tobacco? / fefafaa
A & Oy FITer gATE F AFaTE & 39ANT i gfaatt fmar ar

1. Jahangir / STeT9IR
2. Babur / dTelY
3. Shahjahan / QIT&sTel

4. Akbar / heX

Correct Answer :-

« Jahangir / ST&RIR

41) An effective teacher tries to make the class room environment more ./ Ueh JHTET

TRraTeh, &1 3 ardTaver 1 3R F qATAT B |



1. democratic / Npdl Ah
2. autocratic / ﬁi@f?f

3. strict and rigid / T&d 3R HoR

4. anarchic / 3{Talh

Correct Answer :-

« democratic / SNhdITIH

42) The silver coin introduced by Sher Shah and continued by the Mughals was : / 232ITg GAaRT
vafad frar ar Ak erat gart SR @ A il w1 [ o

1. Rupaya / >4dIl
2. Asharfi / 3121
3. Muhar / 3=I>IT;—',T
4. Dinar / 1A

Correct Answer :-

e Rupaya / Ul

43) Many of the social problems in modern India could be due to the neglect of: /

AYP YR A $ IIfore THXTSN BT SR A7 B 3T 8 Tl 3:
1. Higher Education / 3Tdax fr&mm

2. English education / 37arsiT fver

3. Value education / 37T&eT Tv&T

4. Technical education / TTeheiiehy TRY&TT

Correct Answer :-

« Value education / 3T e

44) Who has the power to recommend the dismissal of the State Government and suspension or
dissolution of State Assembly? / I7od VPR B @RI 3R Y faum=aH1 & Freie= an
foraes ot w1 33 o 2ifea forad e 82

1. Prime Minister / UTAHAT



2. Parliament / Gd<¢
3. Governor / TTaIUTd
4. Cabinet / hidale

Correct Answer :-

o Governor / TadUTel

45) Who is considered the father of Green Revolution at the world level? / fa¥ad WR W Bﬁ_d

Hifd & oS fHd a1 ST 32

1. Thomas Malthus / ST FATeAT

2. Norman Borlaug / ATHT ARATIT

3. Cecil Salmon / @8 GoldAA

4. William S. Gaud / faferas v, ails

Correct Answer :-

« Norman Borlaug / AT RATT

46) Which of the following reason is responsible for highest percentage female migration in

India? / HRd & AfgAT Yara+ 91 =49 yfazradr & fou fFAufafad § @ #1391 sru
ITRCA 82

1. Stability / TEARAT
2. Employment / USTITR

3. Marriage / faare
4. Education / freTr

Correct Answer :-

« Marriage / faarg

47) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? /

fFrafafEd & 3 feus! @d & e srpmfaRa &1 «gade Uia» uiis 82
1. Opium / 3THIHA

2. Wheat / ?ﬂﬁ



3. Cotton / PUTH

4. Tobacco / ddTH
Correct Answer :-

« Opium / 3THIHA

48) Lal Bahadur Shastri's Samadhi is also known as: / ¢TI d8TgY IRl BT A BT A AdH
& ot ST ST 8

1. Shakti Sthal / QIfth YT

2. Shanti Van / Tciteed

3. Chaitrabhoomi / =g
4. Vijay Ghat / fas1a g1e

Correct Answer :-

. Vijay Ghat / fasig g1

49) Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ UA® 94 IRER frarl #1 Ius & JudT & =u d
FY IS F BHdl &1 Do Hdt g, o GG

1. Limit price / TR HeT

2. Base price / 3TUR I

3. Exchange price / fafaaa g
4. Support price / qAYA Hed
Correct Answer :-

« Support price / qadA e

50) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &f&roft arpteT & fora=t &1 firarav gférvit snpie diar 3 9 (SACU) &1
fArafor w4 82

1.3

2.5



3.4

4. 6

Correct Answer :-

51) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the

following countries Coffea charrieriana is grown? / PHIBT DY TP TiTfe forl Sw R
ST oTdT 8, PTI Q gad g1d 1 P § & fr 3w § SR Suerrs eirdt 22

1. Vietnam / TaIdaTdH
2. Yemen / IHAA

3. Cameroon / hdA®T
4. Liberia / STga AT

Correct Answer :-

« Cameroon / S

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called / fafia R & fRreorzms s
oA B e @it a1 SRV § AR F 2, ok IR ST & B B P
Xdle,__ Peadigl

1. Problem based learning / AT 3R 3T
2. Learning from observation / 3Tdeilehel gIRT 39T
3. Inquiry based learning / 37=dW0T 3TUTRA 37TAITH

4. Pedagogy of learning / 3773131 T fFArTOTRMA

Correct Answer :-

« Pedagogy of learning / 3TTQITH T fAGTOTRTH

53) Barak valley in Assam is famous for which among the following? / faFafaf@a H I 3T A
1 11é) e fore wfdger g2

1. Bamboo Industry / ST& 31T

2. Petroleum Production / USITelgaT ScUTee



3. Cottage Industries / Eﬁél{ 34T
4. Tea Cultivation / T T Wl

Correct Answer :-

« Tea Cultivation / I hY @T

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

FEEHNF AT 9T T AersAd 1 AT F AT fFa sHEAAT 1 39T fFar sirar &2
1. Melson units / HTH ShIsAT

2. Beaufort Scale / SIHIC YATAT

3. Dobson units / STEH ShISAT

4. Sieverts / Ha<

Correct Answer :-

« Dobson units / 3TaH $ch|$¢|T

55) Quit India Movement was launched in the year ./ AR DY) eI a¥ ) T
fomam aram |

1. 1945
2. 1942
3. 1930

4. 1919

Correct Answer :-

e 1942

56) What is the approximate interval between spring tide and neap tides? / ged Sa-HTeT 3k
oY SAR-HTET F i AT IHeTeT F4T 82

1.30 days / 30 fe=
2. 1day /1T

3.7 days /7 Tt



4.15 days /15 fea

Correct Answer :-

« 7days/7 e

57) The Lion capital at Sarnath belonged to which one of the following kings? / R=ITY Y e
ot frafaf@a & & fre o @ wafaa o

1. Vikramaditya / faesparieea
2. Kanishka / eIt

3. Ashoka / 372lTeh

4. Ghatotkacha / el

Correct Answer :-

« Ashoka / 310\

58) In which layer of the atmosphere is Ozone gas concentrated? / a@ﬂgﬂ NFTRATHA
e AT Hfgad?

1. Asthenosphere / TEAAEHIIT
2. Stratosphere / GHITTHS o

3. Ionosphere / TS

4. Exosphere / ST&IHS o

Correct Answer :-

« Asthenosphere / TEIAIFHIRR

59) Chalcolithic Age is also known as: / CIGEIICIDED qT T SH T H oft ST STaT 8
1. Neolithic Age / FAafefd® Eell

2. Copper Age / dTd dT

3. Stone Age / UTNTOT T

4. Iron Age / e T

Correct Answer :-



« Copper Age / dTH JaT

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade
India for the first time? / T f@a & @ frwas arweTahTer & FIrer AT HEHT ATE IeaTell
Ugell I R 9T ITHAT fham a2

1. Jahandar Shah / E?TIE."IT ATE
2. Shah Alam II / g 3Tl 11
3. Bahadur Shah / delgl AE
4. Ahmad Shah / 3T&Hc 0%

Correct Answer :-

« Shah Alam II / RTg 3ol 11



